Przykład Nr 5:

Mamy następujące dane:

Obciążenie cykliczne (AC):

	 
	 
	 
	 
	 
	 
	 

	I1:
	10
	A
	~
	t1:
	0,10
	min

	 
	 
	 
	 
	 
	 
	 

	I2:
	50
	A
	~
	t2:
	10,00
	min

	 
	 
	 
	 
	 
	 
	 

	I3:
	20
	A
	~
	t3:
	12,00
	min

	 
	 
	 
	 
	 
	 
	 

	I4:
	15
	A
	~
	t4:
	5,00
	min

	 
	 
	 
	 
	 
	 
	 

	I5:
	36
	A
	~
	t5:
	3,00
	min

	 
	 
	 
	 
	 
	 
	 

	I6:
	14
	A
	~
	t6:
	2,00
	min

	 
	 
	 
	 
	 
	 
	 

	I7:
	1
	A
	~
	t7:
	5,00
	min

	 
	 
	 
	 
	 
	 
	 

	I8:
	5
	A
	~
	t8:
	45,00
	min

	 
	 
	 
	 
	 
	 
	 


Us =800V

I2t (tyrystor)=2.500A2s

Zdolność zwarciowa  > 50kA

Cos φ=0,8

Totocz.=80oC

Przepływ powietrza = 5m/s

Przekrój przewodów = 200mm2

Częstotliwość = 5kHz

typ: G, wielkość 1 z możliwością montażu mikrowyłącznika MK 

1. Wybrać prawidłowy bezpiecznik ?
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ETI gives no warranty that all errors have been eliminated from this program and shall not be able for direct, indirect or consequential losses, damages, costs, expenses, claims or fees of any nature or kind arising out of its use.
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